B & (S59%) 2014/8/16
X 1= 1 PEESE —[ 544
IR =T TOTAL_JIiE| 175 QB[ 275 [iel 35 el 1% |
B8 PRk §kth 65. 6] # 4 4 #| 15 7 #| 40.9)# 4.6
20 |PARJII F A45.8)#| 18. 7| # |#issss|#) 31.5)#| 18.0
M |PEVE BE 25. T\ # | fHtias | # | fan 4] 26.2)#| 25.0
M |PERS —E 23. 5| # | #HtttHtu | #| 54. 4| # 0. 1| # | #HHHH
56 |P{REE K 22.3|1#| 22.9|# 8. 2| # | HHHHH #| 14.5
66 |/ BF 11.7}#| A 8.6)# 9.91#| 19.5]#| A 9.1
T [ XEF 0.4)# 6.91#| A 8.6 #| 22. 6] # | #itss#
8L | KF == A 0.6]#| A 4.6)#| 20 28#|#utttitt|#| A 4.4
ofr |PRfE EB M| A 364 |HHHH | 17, 8) # || 4| 19.7
104 5=k B A 10.3)# 5.2\ #| V4. 2) # | fHHHHH| # | #HHHRY
114z (B8 5 A 1.7\ #| 26 7) # | $HH0 ) # | #44a08| %) A 2.1
124 P& B5E A 21.3)# 4.2]# 8. 1| # | #HtHHHH | # | fHHHHH
1361 (PHIE FIX A 23.2\#| 10.5) # | HHHHHH | # | HuuuuR| %) A 9.4
1461 |ILE Al A 29 2| # | HEHHHE & | ] # | Haaaag| 4] 15.4
156z (PRAII Bk | A 41. 2| # | #ttttitst | # | #HHHH | # 8.4|#| 20.4
164 |ATH 3 A 54 91#| A 8. 5| # | HHHHHE| # | A 4. 8) # | HHHHH
it 5t 2.0 0.0 0.0 0.0 2.0
1.0 ## A 00 ## A 00 ## 0.0 ## 1.0




